Toll Credit Example


Assume project need of $100,000.

With funds that you can normally use toll credit with, you have the below breakdown:

TOTAL                   PARTICIPATING                FEDERAL 1           LOCAL                   TOLL CREDIT
Traditional           100,000                 100,000                                 88,530                   11,470                   0
Toll Credit            100,000                 100,000                                 100,000                 0                              11,470 (100,000 x .1147)

Using On-System Bridge funds, you must have a second non-HBP source of federal funds to make it work:
Federal 1	Federal 2             
TOTAL		PARTICIPATING		ON SYS HBP	STP		LOCAL		TOLL CREDIT
Traditional		100,000	100,000		88,530		0		11,470		0
----------------------------------------------------------------------------------------------------------------------------------------------
Toll Credit (HBP piece)	88,530		88,530			88,530		0		0		10,154 (88,530 x .1147)
Toll Credit (STP piece)	11,470		11,470			0		11,470		0		1,316 (11,470 x .1147)
TOTAL			100,000	100,000		88,530		11,470		0		11,470

If, for example, the second fund source is DEMO, it would breakdown like this:
Federal 1	Federal 2             
TOTAL		PARTICIPATING		ON SYS HBP	DEMO		LOCAL		TOLL CREDIT
Traditional		100,000	100,000		88,530		0		11,470		0
----------------------------------------------------------------------------------------------------------------------------------------------
Toll Credit (HBP piece)	88,530		88,530			88,530		0		0		10,154 (88,530 x .1147)
Toll Cre (DEMO* piece)	11,470		11,470			0		11,470		0		2,294 (11,470 x .20)
TOTAL			100,000	100,000		88,530		11,470 		0		12,448


*Note – Eligibility must be check when using DEMO or any other Federal funds in-lieu of the Local match.
